a—

;. Y052| 0;9—‘1.‘TE;AI\E-:L(;GEENMEBECERILERl i
o ey e Sela sl ——
L

15

26

37

48

57

2

Yukaridaki agik sekil katlanarak kiip hﬂ?lme 5 1
getirildiginde; C’nin karsisina hangisi gelly? Hy

If the above figure is reformed tﬁ 4 rf:u
letter sits opposite to letter Cﬁ

a0 dang gl aa 4l dﬂ-h“ ‘J)ﬁ‘
Y

400

be tﬂ"t'-zp which

J ot

(2*.3)1;(1.1):?

A) -2 @c)o D)1 E)2

6-% @ O
_16&c

o= gl
fﬂ ﬂﬁ%mu

W i if‘!m

Wi

!

L

b

M typef

FMZ

)a $A$KINLIK, = |.818754657
|

¥

SANLIURFA | = ?

“Hyip

“?” hangisi olabilir?

Which one of the following may come in

place of 7" ?

A) 814457301

C) 814440263 @314,553921

E) 814634702

"2 J il Lglh e

B) 814647231
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5.ve 6. Sorular drnekte verilen iligkiye gore '
cevaplayiniz.

Answer the questions 5. and 6. according to the
relation given in the example.

(6-5) U1yl Tinaliall ey i

R
i 1 r ;
az-cz “‘wl ,’m
\i Ty
Gro -y J‘[j',"
2 & i
a —C
wo -
A) 30
ﬁ.‘r -

a,b>0, a—p=7

A3 B s Q) gs
C-2=§
c"l_'cxf\q b‘-\-\ﬁ;"’vs
) : ?
G =\p )
é.”Vl ]

__——-/_:;—‘_'-'-;-dt’,

i

7THE BAS

o] -

A

X.y

X, ¥, z pozitif sayilar olmak Uzgrf;ﬂ; X.y.z=?

if x, y, z are positive numbers, then what is the value

ofxyz=7? MH'I”
X.y.Z A Al Uhr‘}!i‘“:-‘;)‘aiml X, Y, zos
NV U7 E Lo ' -
WPy 8
A) 2° » !B 2" Ve 2 ‘
) ﬁf) . “l h"”iﬁlﬂf-)”l' m i
’L' I‘II‘JHH %;
",." .l’u "bﬂl T 1.;ﬁ Unry= ™ Z
Q \5;_ <2 il
oDy EYLERER
;M . o
Sy _ i K :
27 - W7 ALt O h

2m+3n-s=-32 = M+N+s=7

A4 EB’"M“- D)2 E)4
oo <A ' Ut
)
kMg,g\ ;o_fﬂ:g
. (05-3) L a=0
2 KSDM) ,\31'3
'3: R]ﬂ{c.s
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= o

R
+ ° X
ALA A
° x| x4 +—0
(o] X +
/AN | A
X + |+ —5 | o X
X +
ANWANI I
+. o ' X
Nx B e @
VAN
D) ° . E) o
AN "y
=Y x ﬁ:_%
b . h.%%
rail i 1 4% %V
&3 Mgt
‘4 ﬁHm Bua
%ﬁﬁﬁ afg
Hy Ty
HI ]
E‘I}ﬂ g ]

10. - 12. sorulan agagidaki bilgilere gére
cevaplayiniz,

Answer the questioris 10 - 12 according to the
following information,

A0 el O3 gy 12 - 10 3l

& .

) ,9 5 Q k & {p: e H

Yukandakl labirent Ta\»odadan olugsmaktadir. Oyun

kt'ir‘allan gsagldakl glbldll'

%Oyuncvb!l' di ggkaﬁplsmdan baslayip odalardan

i Pec;erekA veya B kapisindan gikmaktadir.

. )’uncu gectigi her odada kag puan varsa; o
puanialmaktadir. Fakat kullandi§ 1g1 her kapi igin
oyuncudan 2 puan dusmektedlr (giris ve ¢ikis
dabhil).

* Her odadan en gok bir kez gecilmelidir.

The above labyrinth is composed of 16 rooms. The

rules of the game are as follows:

» Player starts from the entrance door, passes
from the rooms and go out from A or B.

» Player gets the points available in the room. But
player loses 2 points for each door that is used
(either for entrance or exit)

¢ Each room can be passed at most once.

KA 0y Ll 3elE | 4 2 16 (5 gnd LS Ll (Y1
kil

Bl 51 Al 0n W a8l oty gl 0n il o Sy
g, B US o Wy (A Akl 38 G Al 0500 P el
tia) Adle 2 e 5 sk (g3 Ly S G gl o @3l

(oAl o Jdall Gasy Ja il

saaly e 0 SRV aN (e gl cSaY
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10,

‘Girig kapisindan girip en kisa yoldan B kapisindan
¢ikan oyuncu ka(; puan toplar?

How many pomts does a player gets by using the
shortest path from the entrance door to the exit door
B?

wl:(ps,LE)L_).A;LIBL.IL}]\UAC‘}:JLJ‘)JY‘.\;“:FJL}HE%HJ

R s

DR Y s

9:1/ TEME

5
o W
0 --E. :_ i

565201

A

”

Bir oyuncu yukandam{/enlen oyu!w, kagldmda 13

‘Iﬂﬁl 8T

Kag pu”gj toplar? 'l }'m

the player gpet’J

gawe by smg
by, J@

4

A5 _B)13 )11

odadin gegere*( IA kapis!

'fk)"}aye Passes through 13 rooms and finish the

e m}‘]‘?, d)\;u.ydulc‘ﬂualahadlr.\;mum\ U\S 131

D)9 E)7

?dgpﬂc;lkmaktadlr

the door A. How many points does §

o st

e g
Lo
A6 B)14 C)12 AT E)8 m;'%;'{ﬂ;f:r
N
ﬂg.’,ﬂ)q_ JI‘LI ,
{;.qlﬂ‘}% f %z Wygeh
ty | ""*'.'-Hbr;y,zﬁ’.rmn gy
'ﬁﬁ jﬁ'ﬁﬂ 'a’;ﬁi 'm
e e
4
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12,

En kisa yoldan gitmek kosulu ile giris kapisindan
girip A kapisindan gikan oyuncunun topladigi puan
m, B kapisindan gikan oyuncunun topladigi puan n
olmak lizere;

m-n=7?

A player by using the shortest path from the
entrance door to the door A gets m points , another
player by using the shortest path from the ewtrance
door to the door B gets n points.
Whatism-n=7?

omss B ol Ryt |
m- n"' ?mﬁ,‘unzﬂ.ﬂj} LK

i ‘I

Wi
p fiw

A i

D T 1/ Tt
EEFS 2019 1IT!-LE_BA?IC ﬁEKB NING SKIFT St |
T 7 A i T £i

. 2D3=3
“ 304:6
”|.4L'.|5=10

0" islemi tanimlaniyor, Buna gore;
IV. 5n6="

Operation “0" is defined above. Then what is the

valueof 506="7

5 DS:?:DwaUJ!L__ﬂ_,;JﬁJAL

A 12 B)14 © E)18
m?{,n
e
g 4
yis .,!',“5 s
” M?{.’.‘:}f),.,ﬂ
W sz 27 sa
1 ) A 1 6 g

Bir kipin farkli konumlardaki gériintsleri verilmigtir.
Kiipiin agik sekli asagidakilerden hangisi olabilir?

The appearance of a cube from different
perspectives are given. Which one of the following

can be the open form of this cube?
sheal CaSall 4 Y C,t:ua.“ L]Sa‘nil@igﬂﬂ! LZ:\JL&]\L')-L’;‘

A e <2
3] s bl %
[1l=tAle] [2ltfafs] [1]Ale]s] |
2 O 5|
D) E) ?
3] [4]
6|AtafZ] [2]3[6]A]
1 u]
| 1 Bad
Q. \\ ‘\A
100
A=
5 . ..
YOS VADISI v
£ https://t.me/yosvadisi d

Scanned by CamScanner



3 t ERILERI
S e

j’" ql %

EEFS 2019 7} /,THE‘BAS| TUEARN RN S|

v"s-dv‘ '-f'(

47.-19. sorular asagidaki bilgilere gbre

cevaplayIniz.

Answer the questions 17
following information,

—19 according to the

saclill g 19, — 17. bl B
X, y, z ve t birer rakam olmak iizere * iglemi
asagidaki sekilde tanimlaniyor.

L

The operation * is defi ned as follows
where x, y, zand t are oné dlglt numbers

g.n.\ngﬁmnru|rh_)\ﬁ.u&bzyy X oS

‘2
X |zt ERz- ’}2(“ -1
.',IJH'F ) ’
l o1 oL
" 4 M B, 3
| v [2][a]-Ts][1]=7
o sy sy ik ‘i}h
A A A)% Bl ms B9
/] ' 1'.7“
W« B
/VV Y Vo =7 -\ =
STV, H
~ AR k3 A
Wil 7 w‘"’flﬁi M:.,_?":I%_wyﬂ
Sekildeki kiip birbirine es 64 v,l'came ki h%‘k kipten™ ™ '
olugmustur. Olugan buy kkuptwrtjm Hel@[éﬁ 18. |
maviye boyansin. * = '
: —@ X[121= olduguna gérexkactir? —
The cube in the figure is cqmﬂ"osed gﬂ%f# identical ' .
small cubes. All SIdWé%]oﬁ{t eblg Ebe is colored'blue. | (¢| 4 E* X|l2|=9 then what is the
G»HH(,;JLMAL.A!SA64U“WHLA&ASJJM‘@ value of x ?

?eL»*
Ug yuizt boyali kag kgiik kiip olur?

GoN 05N 4a gy

What is the number of small cubes with three faces
colored blue?

nSall 5 gy T A e Ui gl cna oS

A)16 B)14 C)12 0510 E}a‘]

Xiad alddl e oy

A3 C)5

D)6 E)7
Un=2-4 ;9
6
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19,
LT—I * m 4[=6 olduguna gére “x+y” nin

en blyik degeri kagtir?

lel‘

value of x+y ?

4 (=6
then what is the largest

x+y J a1 ale olls e oLy

A) 17 @cns D11 Bo

N MN=-2
i\"’_\:zb\

V6=

Belirlenen kurala gére “?” yerine hang'u}sayl Q
gelmelidir? | W Y J%".
! 4
According to the rule, which H?ljmber Last cofnggri
la uon i

M'f.’a,;*’ﬂ.wl o g

21. - 23. sorulari agagidaki bilgilere gére
cevaplayiniz.

A, B, C, D ve E sifirdan farkli birer rakam olmak
Uzere; A+B=C+D+E kogulunu saglayan bes
basamakli ABCDE sayilar olusturuluyor.

Answer the questions 21 — 23 according to the
following information.

A, B, C, D and E are one digit numbers different than
zero.

Form the five digit numbers ABCDE such thatA + B

=C+D+E. e
A e hedll e ;Luu_,;\jlulanlﬂ - 23, 0 ALYl i
A+B= C+D+E“u E;,w“..ah‘;ux:u‘.uj
. ity
21, ' I![Il e Eq T':u} - Bl '
Rakamlan blrbmna farkl%bes basamakh _en blyiik
ABCDEfsaYISI icin ﬂpkagm

Fgrm the ,I?rgest five’ dlgit number ABCDE whose
: dlg s are dlfféregtghen each other. What is the value

8.2 moﬂw in this number?
ui'hgﬁ gz g iR (Sae JS AgCDE S5 Y1 s 1

u}ﬂmq)h

A3 B)4 0)5/@%‘l E)7

22,

Rakamlar birbirinden farkli 5 ‘e tam béliinebilen beg
basamakl en kiigiik Qgggg sayisinin rakamlari

. toplami kagtir?

" Form the smallest five digit number ABCDE which is
divisible by 5 and whose digits are different than
each other. What is the sum of digist of this number?

e Lauill d.\'ﬁ_,éqh)uallABCDE kel (,hJch_uIS 13l
‘.h‘)\]\uht_,‘aa_,hh ua:ulng...euLphraAJ

AM’( B2 022 D2 B2
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Rakamlari farkli 2 ile baglayan bes basamakl en
buyuk€§CD§ sayisinin 10 ile bélimiinden elde

edilen Kalan kagtir?

Form the largest five digit number ABCDE with
leading digit 2 and whose digits are different than

each other. What is the remainder when this number
is divided by 10 ?

SO0 S ofaa stn,ua.gxwo;um..‘.tﬂlms 13
‘ 10 Gle 0 3 2ad Ay L, 810 01

A)7 @9 C)5 D)3  E)1

TN
a3 U\$ 6
2
“ 7
s o)
£ >

Bir bilet kuyrugunda Ali"den dncekilerin sayisi, Ali’
den sonrakilerin saylsmdan 5 fazladir. Kuyrlﬁéta

toplam 20 kisi olduguna gore, Ali bastan kagmciI

¥
siradadir? [H !

'*TFL
In a ticket queue, the number of predecesdrs
Ali) of Al is 5 more than the sUccesSoas (aftererh) of’
Ali. Starting from the first one, what i q

ijh-~
ﬁ e place olf Ali
ifthere are totally 20 peeple Wy f.h? fq dues iy ’
) mwhﬁ il U\Ss GLLJ"-

u:uh_:.!r_l 1,

i”
C)15 ™ )

.Eﬁ

M17 B)16

E) 13

.

(before [,

/ 1818

E o
1/THEBAS|(:’L'EARNl g 5 Ii
EEFS 2019 TF A !
25 ve 26. sorulari, agagidaki érnege gore |
cevaplayiniz. -

Answer the questions 25 and 26 according to the-
following example.

S e ol s o il 20, - 21, A
Ornek: Example:

3,122,118 256 2,3
2. 3 63t
A—%X09 K>B X, 56 )
T o Bl ;
Yukaridaki sayi dizjs meg ore; A kagtir? !
Accordmg to. theaqovea'p %énsequence what is <
the valud (’{?f b A0 w,

W”" A'“ﬂjﬂﬁ _,,‘,A‘;J»’Lﬂhym,.aﬁ,.nmutw

'iln

e s cﬂ% D)5 E)6
gl

6.

Baslangig sayisiA=8, katsayisi K = 6 olan sayl ;
» dizisinde; iki toplama ve iki ¢arpma iglemi yapildigina . ;
| gbre; dizinin son (bes;.mm) {enml n cok kag olabilir? \

Startmg withA=8 and K =6 one performs two

addition and two multiplaticion. What is the largest
possible value of the last (fifth) term of the sequence?

.\.\a.“e\MLgf_,MA—Bwo‘h..ﬁw\QlS\:ﬂ
uMM\hﬂLéJeS‘@L.@mL@)-L.U&\JeeNK=6

bl
A) 480CEBJ 54 C) 720 D)800 E) 920
! -+ ¥
%LS 14 —éa 03 - 90%, -
YOS VADISI |
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TAKIM ) |

KEMAL| 18183 26183
KETUM} 15273

TEKIL | 16294 26354
TUTUM|

'Yukaridaki sozciiklerin harfleri birbirinden farkli birer
rakamla gosterilip sagdaki sayilar elde edimistir .
Buna gére “TEKIL” kelimesi hangi sayiyla
gosterilmektedir?

The numbers in the second group are obtained by
replacing each of the letters with a number.
Accordingly, which number corresponds to the word
“TEKIL" =?

Al el e de pana Llis LS (0 de gana 2057 oY1
TEKIL & Gy (530 asall
\ oz

—AM18183~ By26183" C) 15273

26354 '

=

'J{,ﬂc,
H—”
|

v b AR R
EEFS 20191/ THE BASIC.LEARNI
i ot %r‘,ﬁ;} e T 5

72U
LA Otk 7 3

29, - 30. sorulari agagidaki bilgilere gére
cevaplayiniz..

Answer the questions 29. - 30. according to the .
following information.

adl aayf I el gleall e ol 30.- 29, UiaYl i

Y T

He o Miﬁfﬂ

g T
\iB, C, D ve E kentleri

Yu}(arigaki krokide; ot
ar?"?fzmg‘ézd uzakllklar:';gr'ﬁsterilmistir.

In fie abové'diagrém, the distances between the
M,;"cfji;sli%_s';A, B, C, D and E are shown.

. %’B C, D, E csaal (ke alusall s 3 sl SR 3

29, . .
B'den D'ye en kisa mesafe kag km'dir?

What is the shortest distance fromBto D ?
D I B (e el diliadl aLe

A5 TBOD )13 D18 E)20

30,
D’den C'ye; her noktadan en gok bir kez gegmek
kosulu ile en uzun mesafe kag km’dir?

What is the longest distance from D to'C by passing
from each point at most once ?

C Lall 1 D Ainall e JED 985 o (Say Biluse kil (Ale
5 a1 Baal y Aipaay g pall S 4l Iy

A)20 B)19 ()18 @ E) 16
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2|3 |1|> 1
312|1> 8
: -y =
51313 |=» 123 x=
4135 |> «x
-A)B4 B)6I C)60 D)5 E)76
. &\
23 -~ \9
\2S - 3
e
| .
%-
RN
|
| \ =E |

g MO
h‘l ITH; BAEI‘(‘:.EE,ARNNG«'S

i o

¥ i

%20 \ 2

%15
%35

A) 96 B)1oz@ D) 114 E) 120

Yo \Qa’ ;rg/b
36:0%  enn '
ity " hsa
'7>6 ﬂ : q M%ﬁm;

W "(M

_%h %g \ o'.’

i [4 -J% ;ié”f% eriliyor,
RN

[Re T8 2 N

A=B+C, B'= B, c'=-c olmak {izere; B~ C=?
(Burada ‘5’" matrisin transpozunu gostermektedir,)

2 2
31 Th tri = is given.
7’ e matrix A [4 2] |s‘gwgn

fA=B+C, B'=B,C'=-C -

then what is the matrix B g;—kg,“ <

“T" stands for the trans ose of a matnx )
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30,
@ B).3:4T C)L3:47 D)4:01 E)4:12

3

o 1y

%re derinlige sahip kuyuya diisen bir ku"baga

ilk gin 5 metre gikmakta, ertesi giin 4 metre
digmektedir. Bu sekilde devam edersﬁr kag gunde '}B

kuyudan ¢ikar? IJ( ' gy
A frog in a 15 meters.deep well{[@néﬁ“d‘ay rtkfu 5’ A
meters up, another day it goés 4 mete ,45 down [
Continuing in this fashlon mﬁmw rrJanyﬂ “ﬁ I’ﬂ
comes out of the well? Jﬁ | 'ﬂ

15 S U ool i .,,[_,”!jfbd B s A By i
O gasAl glias rﬂ%r% A “"ﬂf aily ‘-Mi;” ol 3 d“‘b“%:;
:%’;},
A)30 B)27 C)25 ""b’) 23 E)21

11

EEFS 2019-1:/ T o

g iid
L

A) 0 C)4 b E) 8
M;?ﬂ'h O 5
{.‘ '_’ﬂ 3 s W
‘borey %MW m@’ r\ ]
o gl I i
Wh *w ﬂ%ij Gyt
i h
b
ﬂ'%;%w - ﬁ-'!ﬁ}p
' —x2 , X<0
[ x| , X20

g :
fonksiyoriunun grafigi asagidakilerden hangisidir?

Which one of the following is the graph of the
function f(x)? .

Sl gmall Al Lal a0 Dl pldl) e
B) C)
D) { E) l

A)
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R ek

i al) >48 @»81

Yukandaki seklin iginde asagidakilerden hangisi

yoktur? Buna gbre; a+b'nin alabilecegi en kiclik degeri nedir?

Wich one of the following does not contained in the

ram, what is_the least
above figure? According to the above diag

possible value of a+b l'h?llll 6
bl ) f kil JSEN g Lta ol AN PN 3 B ..mg_” i

A) ERE | B)

D)[]

12
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YABANCI UYRUKLU OGRENCI SINAVI

THE ENTRANCE EXAMINATION FOR FOREIGN STUDENTS - '
-~

1. Bu test sizin somut diginme glictintz{ 1. This test is designed to measure your
6lgmek igin hazilanmigtir. : concrete reasoning.

2. Bu testte 40 soru vardir. 2. This test consists of 40 questions.

3. Bu testteki sorularin cevaplari, cevap 3. Please use the appropriate part of the
kagidinin Matematik Testi icin ayrilmig answer sheet for this section of the
olan kismina isaretlenecektir. test, namely the Mathematics Test

4. Cevaplamaya istediginiz sorudan section. .
baslayabilirsiniz. Cevaplarinizi : 4. You can start with any question you
isaretlerken soru kitapgigindaki soru want. But, when marking your answers,
numarasi ile cevap kagidindaki cevap make sure that tht_a answer number on
numarasinin ayni olmasina dikkat the answer sheet is the same as the
ediniz. question number in the test booklet.

ey 1 Sk e 2 N

3 E INDICATED
NOT: ONDALIK KESIRLERI GOSTERMEK NOTE: DECIMALS AR

IGIN TURKGE METINLERDE. VIRGUL (,) BY ACOMMA () INTURKISH.
KULLANILIR. -
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it

% =Y (R ve——

-%‘h STRpEPESAAT, 1T e T

} &MEQMATEMAUK_:
A7ha RS ¥ SIS SRR T

[ e
B P

L
: a+b=3 ve xt+ty =2

= ax+x+ay+y+bx+by="7?

A)4 B)6 @ D)10. E)12

Q(%a.\))-»-m-g.pb(,(_,_\ﬁy

’4*")[‘?\-)4- \o)
R RN,

2
1 1

1
a=(%) i b=(%) S, c=[-%] 6 sayilarinin

kiigiikten biiyige dogru siralamasi asagldakllerden
hangisidir?

What is the correct order of the above numbers
when they are ordered from the smallest to the
largest? M

Ly,
alac S _).US]‘ u-“ ‘).Ia.m.“ Cra c.\;..all (St 5 Hht_,h g_r“:‘“ 82 ll“%

A)c<ac<b
B)a<b<c
C)b<c<a

3 2
i "'Y'hﬂiﬂh 2x -5xy =4a

=

5y3 —2x2y =9a

16 5 8 8
= -2 D) - E) =~
9 B) 8 @ ) 5 ) 5

Q‘QJ“\\ :_i_ _\b_q

A
o Fuo
,{,ﬁjﬁi’fﬁ}?.‘ \"1&%—‘ ’z_r?-b
Alf W
‘-:?ﬁ-'.ﬂﬁiﬂ{ Y
4x-y _»
-4y +X

s

E)b<c<a

,“Ezs
wos(y

C. 66‘
Y
v - 29
Ce 1e

e ——
4 = - 4 B
] 5‘ 3 S
Go %
X0y +y,0x _
0,0X+0,0y

C)91 D)%  E)101
I.‘ .

‘-l\'
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AcB
1.1 SC <D olmak g :
[fﬂ[m}) BB By
Ay ”
(1 - 2“‘) ACBCCCDthenwh'
. h i i
8 3 €quivalent to the set (D\Cl)cuzlg\eB;f\:rE;\t:])IS:mg °
Al 1 e ol
A B3¢ i ) o>-§- E)2 b,
(D\c)u(C\B')u(B\,c\)=7
5oy A) DA 7
S, v B)D\B -~
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= asagidakilerden hangisi ]zl =z+Z esitligini éé Zrctanx = arccot4x ise x 'in alabilecedi degerler,

saglayan z =x+iy karmagik sayilarindan biri agagidakilerden hangisinde dogru olarak verilmistir?

degildir? Which one of the following contains the correct

values of x, if arctanx = arccot4x ?
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Grafigi verilen paraboluq éenklenm asagldakllerden
hangisidir? A

What is the equation of e,,‘I!IP,arabola whose graph
is given in the figure?
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X)=4x—
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X+y+z="

1] ve C=2A+3B iseC
3
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Yukaridaki sekilde; [BG|=|CD] ve
m(Déc) =70° ise m(BAc) =7
In tﬁe above figure if|BC| =|CD| and

m (Déc) =70° then whatis m(BAC) in degrees?

3 |BC|=|CD| Al pua sl 3

m(BAc) =7 pale e m(Déc) =70° Iy
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W’f}\ £

ABC bir eskenar tiggen, “O” Giggenin agirlik merkezi

~ ve gemberin merke]ztdllrm“
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|AD}= |Bq% IC&I pit 're tarall ﬁbn kag cm2 dir?
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ABCD bir kare,[CE| = 4|ED| ve A(CEF)=16 om’

ise, A(ABCD) = ?
ABCD is a square, if |CE| = 4|ED| and

A(CEF) =16 cm’ then what is A(ABCD) in square

centimeters 7
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